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6.2 SOLVING LINEAR SYSTEMS BY SUBSTITUTION

Solve the linear system using substitution.

1.y=4
3x-y=-9
2X-4 =-9
+4 +4
X =2
3 3
X=-3

2. X =-5
22X+ [y =2
“2( 5)4-'-7-\, 2
lo0 + 7-\, 2
—lo ~10
11_=

4.y =[-8 + 4X
y =2X-6
-8+HAR=2x— 0
—~ZX =2X
—-g42x= —¢ \532(‘)"4
+5 T8 y=2-¢
Z_\&: Z y:xl_'
Z 7
X=1
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This method is BEST to use
when one of the variables
in either equation
has a coefficient of 1or -1 .

Solve the linear system using substitution.

5. y = y
2x+y:_2— 2X + X +1=-2
37(4_—"=_-'IZ
9:*, +'| ﬁ_L :_5
» ooty
|O )(:—)
6y=—3><+5 /.o x=2y
-y =10 2x + 6y =15
u—"(fz?i's)—lo z(zxj7-l—6\_| = |5
2x +3Xx —5 = [0 Yy + 6y= 15
SX —5S =10 10y = 15
+~5S +5 10 W
S S
X=3 X =2(.5)
y=-30(3)+5 X=5%
¥y= -9 +5
= -4 (%,1.5)

4)
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If an equation is not already solved for a variable,
you will need to do that first!

Pick the variable with
a coefficient of 1 or -1.

8. 2x ;r Zy 3 \/\/h|ch variable should we solve for?
4_})\4/ +l4_\; Z(‘-’yﬂ) 2y =
X =Yy-) By-1L t+t2y = 3

X =41 (l ‘é_‘) Iﬁg +—% =+2_
=2 4 Y =5 g=4%
’\‘) -

X=1 |0
9. ;3)( +?: 31 Which variablesh}@{e' solve for?
X + 2y =
T s B =
2"‘”V=§X A6 + 6 = |
= = X+ 6=
J=-3£5)+ 3 X=—5
y=15+3

y=1° (5 18)



6.2 Solving Linear Systems by Substitution (work).notebook

Which variable should we solve for?

@t% .Arzj\sm) FY= -1y

10. TIx - 7y = -1
—X =-2y+Hy
- = -
X =2y —Y
X=2(2)-H4
X=4-4
x=0
1. x+y=16
2y = -2X + 2
Solve For x.
X+ V= lb
=V =V
N =-yY+lb

2y = -2y +2

Ty= 1y 3242
-2 -

0 =—32+2
o 7 =30

no splution

22y- 944 —Fy=-I4

IS5y —Hy =-IY
+4y +iy
15y = 30
15 )5
y=2

(0,2)

Which variable should we solve for?

Solve fo- u
4

X + M=16
— % —
= —-X+ e
2xe)= — 2x4+2,
21X +2R
nF 7
no Solwion

February 22, 2024



6.2 Solving Linear Systems by Substitution (work).notebook February 22, 2024

12. The length of a rectangle@ cm more
than 3 times its width. If thegpenmeter

of the rectangle is 30 &, what are its P=2b+2w
dimensions? bvth Llength & Width

Q= 3w+3 P=2047w
20 =2Gw3) + 2w
A =3B3)+3 26= @wf“;z 2w
L=2+3 30 =W+
L= 12 24= oW
by 12 i—
(36“\ y 21 =W

==

13. The school is selling tickets for a
fundraising event. The school sold 35
tickets for $86 on the first day of the
sale. Student tickets cost $2 each and
non-studert tickets cost $3 each.
Find the number of each kind of ticket
on the first day. [XJ+y=35 2X+3y =8y

\\0 -
\2 St{;(gdKeé?tE X = ,_'9 .,_3% 2_(~y+35> +3y= 86
= -2 "’7'0"'3 = 86
b non-stude X=-16+35 ; ’
C N x=g A L

—H 30
N Pk
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